

Available online at http://www.journalcra.com

International Journal of Current Research Vol. 8, Issue, 02, pp.26784-26788, February, 2016 INTERNATIONAL JOURNAL OF CURRENT RESEARCH

RESEARCH ARTICLE

NEW METHOD TO COMPUTE COMMUTING AND NON COMMUTING EXPONENTIAL MATRIX

*Mohammed Abdullah Salman and Borkar, V. C.

Department of Mathematics & Statistics, Yeshwant Mahavidyalaya, Swami Ramamnand Teerth Marthwada University, Nanded, India

ARTICLE INFO	ABSTRACT
Article History: Received 22 nd November, 2015 Received in revised form 25 th December, 2015 Accented 07 th January 2016	The matrix exponential is a very important subclass of functions of matrices that has been studied extensively in the last 50 years. In this paper, we discuss and introduce new method to compute the matrix exponential where this matrix in $M(2, R)$.

Key words:

Matrix Exponential, Commuting Matrix, Non-commuting Matrix.

Published online 27th February, 2016

Copyright © 2016 Mohammed Abdullah Salman and Borkar. This is an open access article distributed under the Creative Commons Attribution License, which permits unrestricted use, distribution, and reproduction in any medium, provided the original work is properly cited.

Citation: Mohammed Abdullah Salman and V. C. Borkar, 2016. "New method to compute commuting and non commuting exponential matrix", *International Journal of Current Research*, 8, (01), 26784-26788.

INTRODUCTION

It is known that in the numerical fields for the exponential function $\exp(x) = e^x$ satisfies the equation of exponential function $e^{x+y} = e^x e^y$. This equality is not true in general cases when the exponential function is defined on the matrices especially when non-commutative of matrices are used. But it is known that the equation is verified if the two exponential of matrices commutative:

$$AB = BA$$
 then $e^{A+B} = e^A e^B = e^B e^A$

But when the application of the converse is not always true the two matrices that do not commute can apply any of the relations:

 $e^{A+B} = e^{A}e^{B} = e^{B}e^{A}$ $e^{A+B} \neq e^{A}e^{B} = e^{B}e^{A}$ $e^{A+B} = e^{A}e^{B} \neq e^{B}e^{A}$ $e^{A+B} \neq e^{A}e^{B} \neq e^{B}e^{A}$

**Corresponding author: Mohammed Abdullah Salman,* Department of Mathematics & Statistics, Yeshwant Mahavidyalaya, Swami Ramamnand Teerth Marthwada University, Nanded, India. Several studies have tried to determine the characteristics the matrices that do not commute in the exponential of matrices. In particular, the problem has been studied for 50 years for matrices of dimension two or three see for more details (Morinaga K – Nono, 1954; Bourgeois, 2007; Nathelie Smalls, 2007; Cleve Moler and Charles Van Loan, 2003; Horn and Johnson, 1991; Nicholas J. Higham and Awad H. Al-Mohy, 2010) and also taken up recently in (Bourgeois, 2007). 2009 AMS Mathematics Subject Classification: 15A16, 15A21, 15A27, 15A39. The simplest case is that of matrices in M(2, R), discussed and solved in (Bourgeois, 2007) under the more general complex algebra degree two. In this paper it proposed a simple discussion on how to characterize the matrices M(2, R) for which we have:

$$e^A e^B = e^B e^A = e^{A+B} \tag{1}$$

and it shows that do not exist matrices for which we have: $e^{A}e^{B} = e^{B}e^{A} \neq e^{A+B}$

Definitions

The set of real matrices 2×2 , M(2, R) is a vector space over R with respect to the operations of matrix addition and multiplication by a real number, an algebra is not commutative respect of those operations and the usual matrix product, and is a complete metric space from the norm:

$$\|A\| = \sup_{|x|=1} |Ax|$$

In the following we will consider matrices M(2, R) such that

A matrix
$$A = \begin{pmatrix} a & b \\ c & d \end{pmatrix}$$
 is invertible (non-singular) if and

only if the determination does not equal zero det $A = ad - bc \neq 0$ and its inverse is given by $A^{-1} = \frac{1}{\det A} \begin{pmatrix} d & -b \\ -c & a \end{pmatrix}$

The set of invertible matrices, denoted by GL(2, R) is a non-commutative group under the operation of the product of matrices, whose neutral element is the matrix:

$$I = \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix}$$

The trace of a matrix is the sum of its elements on the main diagonal:

trace
$$A = trace \begin{pmatrix} a & b \\ c & d \end{pmatrix} = a + d$$

The commutator of two matrices A, B is the matrix which defined by:

[A,B] = AB - BA

If $[A,B] \neq 0$ then A, B and I are linearly independent. The centre C(2, R) of M(2, R) is the set of matrices

 $X \in M(2, R)$ that commute at all Matrices M(2, R):

$$C(2, R) = \{ X : [A, X] = 0, \forall A \in M(2, R) \}$$

and is the subgroup of GL(2, R) constituted by the scalar matrices: X = xI with $x \in R$. C(2, R) is a Lie group and is obviously isomorphic to R^* . The sign of $X \in C(2, R)$ is the sign of $x \in R$.

Exponential of a matrix

The exponential of a matrix is defined by:

$$e^{A} = \sum_{k=0}^{\infty} \frac{A^{k}}{k!} = I + A + \frac{A^{2}}{2!} + \dots + \frac{A^{n-1}}{(n-1)!} + \dots$$
(2)

The series (2) is absolutely convergent and defines an entire function in C, so it is convergent in the metric space M(2,R). Since the product of matrices in M(2,R) is not

commutative, the exponential function so defined does not satisfy, in general, the equation (1). However, apply the following properties which we will use in the following: $e^A e^{-A} = e^0 = I$

If A is invertible, then detA $\neq 0 \implies e^{ABA^{-1}} = Ae^{B}A^{-1}$

$$AB = BA \implies e^{At}e^{Bt} = e^{Bt}e^{At} = e^{(B+A)t} \quad \forall t \in C$$

For more details and examples of these properties see (Morinaga and Nono, 1954; Bourgeois, 2007; Cleve Moler and Charles Van Loan, 2003; Higham, 2008; Horn and Johnson, 1991; Horn and Johnson, 1985; Syed Muhammad Ghufran, 2009; Bellman, 1995)

Main Results for computing the exponential of a matrix

The calculation of the matrix exponential M(n, K) quickly becomes very complex as n increases. However, there are procedures that allow always make such a calculation in a finite number of steps, at least in principle (Cleve Moler, Charles Van Loan, 2003; Higham, 2008; Horn and Johnson, 1985; Nicholas J.Higham and Awad H. Al-Mohy, 2010; Denssis S. Bernstein and Wasin So, 1993). In the case of matrices M(2, R) the calculation of the exponential is quite simple with the following decomposition.

Lemma (1)

Each matrix $A \in M(2, R)$ can be decomposed into a sum of two matrices one of which is in the centre C(2, R) and the other has null trace:

$$A = \begin{pmatrix} a & b \\ c & d \end{pmatrix} = kI + A' = k \begin{pmatrix} 1 & 0 \\ 0 & 1 \end{pmatrix} + \begin{pmatrix} m & b \\ c & -m \end{pmatrix}$$

And, for two matrices $A, B \in M(2, R)$, we have:

$$[A',B'] = 0 \Leftrightarrow [A,B] = 0.$$

Proof

The decomposition is obvious, just put:

$$k = \frac{a+d}{2} = \frac{trace A}{2}, \ m = \frac{a-d}{2}$$

Then we get

$$A' = A - \frac{trace A}{2}I$$

Then we have

$$[A',B'] = \left[A - \frac{\text{trace } A}{2}I, B - \frac{\text{trace } B}{2}I\right] =$$

$$= [A, B] - \left[A, \frac{trace B}{2}I\right] - \left[\frac{trace A}{2}I, B\right] + \left[\frac{trace A}{2}I, \frac{trace B}{2}I\right] = [A, B]$$

Since
$$\frac{trace A}{2}I, \frac{trace B}{2}I \in C(2, R)$$

For a traceless matrix the series that defines the exponential function is particularly easy to calculate, as shown by the following lemma.

Lemma (2)

If *M* is a traceless matrix, where $\theta = \sqrt{\det M}$ we have: $e^{M} = I\cos\theta + M\frac{\sin\theta}{c}$

Proof

Firstly we start by noting that for a traceless of matrix:

$$M = \begin{pmatrix} m & b \\ c & -m \end{pmatrix}$$

Then,

$$M^{2} = \begin{pmatrix} m & b \\ c & -m \end{pmatrix} \begin{pmatrix} m & b \\ c & -m \end{pmatrix} = \begin{pmatrix} m^{2} + bc & o \\ 0 & bc + m^{2} \end{pmatrix} = -\det(M)I$$

Therefore, we know $\theta = \sqrt{\det M}$ we get

$$e^{M} = \sum_{k=0}^{\infty} \frac{M^{k}}{k!} = I + M - \frac{\theta^{2}I}{2!} - \frac{\theta^{3}M}{3!\theta} + \frac{\theta^{4}I}{4!} + \frac{\theta^{5}M}{5!\theta} - \frac{\theta^{6}I}{6!} + \dots =$$

= $I(1 - \frac{\theta^{2}}{2!} + \frac{\theta^{4}}{4!} + \frac{\theta^{4}}{6!} +$

We can therefore calculate the exponential of a matrix of M(2, R) using the following Theorem.

Theorem (1)

For each matrix $A \in M(2, R)$, we have:

$$e^{A} = e^{kI+A'} = e^{kI}e^{A'} = e^{k}\left(I\cos\alpha + A'\frac{\sin\alpha}{\alpha}\right)$$

With

$$k = \frac{trace A}{2}, A' = A - kI, \ \alpha = \sqrt{\det A'}$$

Proof

We Use the decomposition of Lemma (1) and noting that [kI, A'] = 0, we have:

$$e^{A} = e^{kI+A'} = e^{kI}e^{A'} = e^{A'}e^{kI}$$

and by Lemma (2) we obtain the desired.

Notation

Note that the result of this theorem is valid even if det $A' \leq 0$.

If det A' = 0, then $\alpha = 0$, just put $\frac{\sin 0}{0} = 1$ and in this case we have: $e^{A} = e^{k}(I + A')$. If det A' < 0, then $\alpha = \pm i |\alpha| = \pm i \sqrt{|\det A'|}$, it takes, as in the real case, the root with + sign and use the relationships between rotation functions and hyperbolic functions to obtain:

$$\frac{\sin(i|\alpha|)}{i|\alpha|} = \frac{i\sinh|\alpha|}{i|\alpha|} = \frac{e^{|\alpha|} - e^{-|\alpha|}}{2|\alpha|}, \ \cos(i|\alpha|) = \cosh|\alpha| = \frac{e^{|\alpha|} + e^{-|\alpha|}}{2}$$

It proves easily that if $A \in C(2, R)$ then $e^A \in C(2, R)$:

$$A = \begin{pmatrix} a & 0 \\ 0 & a \end{pmatrix} \Longrightarrow e^{A} = \begin{pmatrix} e^{a} & 0 \\ 0 & e^{a} \end{pmatrix}$$

but the implication to the contrary is not true in general, as shown by the following lemma.

Lemma 3

Given a nonzero matrix:

$$A = \begin{pmatrix} a & b \\ c & d \end{pmatrix}, e^{A} \in C(2, R)$$

If and only if $A \in C(2, R)$,
$$\det A' = \det A - (\frac{trace A}{2})^{2} = \mu^{2} \pi^{2} \text{ with } \mu \in N^{+}$$

Proof

. .

If $e^A \in C(2, R)$ it must be:

$$e^{A} = e^{k} (I \cos \alpha + A' \frac{\sin \alpha}{\alpha}) = e^{k} \begin{pmatrix} \cos \alpha + \frac{m \sin \alpha}{\alpha} & \frac{b \sin \alpha}{\alpha} \\ \frac{c \sin \alpha}{\alpha} & \cos \alpha - \frac{m \sin \alpha}{\alpha} \end{pmatrix} = \begin{pmatrix} x & 0 \\ 0 & x \end{pmatrix}$$

by equating the terms on the secondary diagonal we have:

$$\frac{b\sin\alpha}{\alpha} = 0 \Rightarrow b = 0 \text{ or } \frac{\sin\alpha}{\alpha} = 0$$
$$\frac{c\sin\alpha}{\alpha} = 0 \Rightarrow c = 0 \text{ or } \frac{\sin\alpha}{\alpha} = 0$$

After those subtracting terms on the main diagonal, we obtain:

$$\frac{2m\sin\alpha}{\alpha} = 0 \implies m = 0 \text{ or } \frac{\sin\alpha}{\alpha} = 0$$

Now if b = c = m = 0 the matrix A' is zero, and then $A \in C(2, R)$. Otherwise we must have:

 $\frac{\sin\alpha}{\alpha} = 0$

and there are three possible causes as follow :

det
$$A' = 0 \Rightarrow \frac{\sin \alpha}{\alpha} = 1$$

 $deA' > 0 \Rightarrow \frac{\sin \alpha}{\alpha} = 0 \Rightarrow \alpha = \mu \pi \text{ with } \mu \in \mathbb{N}^+$
det $A' < 0 \Rightarrow \frac{\sin \alpha}{\alpha} = \frac{\sin i |\alpha|}{i |\alpha|} = \frac{\sinh |\alpha|}{|\alpha|} > 0 \quad \forall |\alpha| > 0$

and being det $A' = \alpha^2$ has this structure.

Construction of matrices that verify the equation:

We want now to define a procedure to construct two matrices verifies the equation (1). Let's start with the construction of two traceless matrices, that do not commute, and such that the square root of their determinant is a positive integer multiple of π . A matrix that satisfies their conditions has the form:

$$A_o = \mu \pi \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix} \qquad \mu \in N^+$$

a matrix that does not commute with A_o and that verification of the same conditions must have the form:

$$B_o = \psi \pi \left(\begin{array}{cc} x & -y \\ \frac{1+x^2}{y} & -x \end{array} \right) \quad \psi \in N^+ \ x, y \neq 0$$

For these two matrices we have:

$$e^{A_o} = (-1)^{\mu} I$$
 $e^{B_o} = (-1)^{\psi} I$ $e^{A_o} e^{B_o} = (-1)^{\mu+\psi} e^I$

Then we have:

$$A_{o} + B_{o} = (\mu + \psi)\pi \left(\frac{x - 1 - y}{\frac{1 + (1 + x^{2})}{y}} - x \right)$$

and then:

$$\det(A_o + B_o) = \left[-x^2 + (1 + y\frac{1 + y + x^2}{y})\right](\mu + \psi)^2 \pi^2$$

then to verify the equation (1) must be:

$$\frac{x^2}{y} + \frac{(1+y)^2}{y} = 4v^2 \quad v \in \mathbb{N}^+$$

that is:

$$x = \sqrt{4\nu^2 y - (1+y)^2}$$

then:

$$B_{o} = \psi \pi \begin{pmatrix} \sqrt{4v^{2}y - (1+y)^{2}} & -y \\ 4v^{2} - y - 2 & -\sqrt{4v^{2}y - (1+y)^{2}} \end{pmatrix} \qquad \psi, v \in N^{+}$$

and in case one has:

$$\det(A_{o} + B_{o}) = 4\nu^{2}(\mu + \psi)^{2}\pi^{2}$$

then:

$$e^{A_o + B_o} = (-1)^{2\nu(\mu + \psi)} I = (-1)^{\mu + \psi} I = e^{A_o} e^{B_o}$$

Recall now that similar matrices have the same determinant, then a date of a nonsingular matrix p can build two similar matrices to A_o and B_o such that:

$$A' = P^{-1}A_oP \qquad B' = P^{-1}B_oP$$

that still do not commute and being:

$$[A',B'] = P^{-1}[A_o,B_o]P$$

and finally two matrices A, B:

$$A = kI + A' \qquad \qquad B = hI + B'$$

such that :

$$e^{A+B} = e^A e^B = .e^B e^A = (-1)^{\mu+\psi} e^{k+h} I$$

Conclusion

There are many ways to compute the matrix exponential we present and introduce new method to compute the matrix exponential where this matrix in M(2, R) and we present some lemmas and theory that explain the procedure of this method.

REFERENCES

Bellman R. Introduction to Matrix Analysis, 2nd ed. New York: McGraw- Hill, 1960, reprinted by SIAM, Philadelphia,1995.

- Bourgeois G. 2007. On commuting exponentials in low dimensions. Linear Algebra Appl. 423 277-286.
- Clement de Seguins Pazzis, 2011. A condition on the powers of exp(A) and exp (B) that implies AB = BA. arXIV: 1012.4420v3.
- Cleve Moler, Charles Van Loan, 2003. Nineteen Dubious Ways to Compute the Exponential of a Matrix, Twenty-Five Years Later SIAM Review, Volume 20, Number 4, 1978, pages 801–836.
- Denssis S. Bernstein and Wasin So, Some explicit formulas for the matrix exponential, IEEE transaction on Automatic control, vol38.No 8, August 1993.
- Higham, N. J. Functions of Matrices Theory and Computation, SIAM, Society for Industrial and Applied Mathematics, Philadelphia, A. USA, 2008. ISBN 978-0-89871-646-7. xx+425 pp.
- Horn R. A. and C. R. Johnson, Topics in Matrix Analysis, Cambridge University Press, 1991,ISBN 978-0-521-46713-1, viii+607 pp.

Horn R. A. and C. R. Johnson, Matrix Analysis, Cambridge University Press, 1985, ISBN 0-521-30586-2, xiii+561 pp.

- Morinaga K Nono T. 1954. On the non-commutative solutions of the exponential equation $e^{x+y} = e^x e^y$. J. Sci. *Hiroshima Univ.*, (A) 17 345-358.
- Nathelie Smalls, The exponential of matrices, Master Thesis, University of Georgia, Georgia, 2007,49 pp.
- Nicholas J. Higham and Awad H. Al-Mohy, Computing Matrix Functions, Manchester Institute for Mathematical Sciences 2010, The University of Manchester, ISSN 1749-9097.pp1-47
- Syed Muhammad Ghufran, The Computation of Matrix Functions in Particular, The Matrix Exponential, Master Thesis, University of Birmingham, England, 2009,169 pp.
